[ 1stell @ + @ + ® 9] 3k F5HA 2.

zlel
Q] -

1284 + 8 =

|
©]

>
> A 12864.05

12840 1 1605

— =16.05
100

D = 12840, @ =8, ® = 16.05
D+@+ B3 =12864.05




D 14+7 @ 14=+7 ® 0.014=7
@ 0147 ®)140 = 7
FE= 771 Z2oH UH A= £71 F 5 Kol Ut ot

2HA 140 + 7 2] o] 1A Bk,




1

D 3+4 @ 3x ® 30 =40
1

@g ® 0.75

@3+ :%

1 X1
®3XZ:37_4§1
®30+40:%:§1

4 1
@§=1§
®075=-0 -3




4.  H5 3 vk veid 212 of AJY 7R

@D 13ha =130a @1.8km2 = 18000 a
@ 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?
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D 13ha = 1300a

® 5.6 km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?




@ 0.75km? @ 100 m x 4000 cm
@)s0000a @ 25ha

® 100m x 3000 cm
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T 22 @2 A A By}
@D 0.75km? = 75ha
@ 100m x 4000 cm = 4000 m? = 0.4 ha
@ 80000a = 800 ha
@ 25 ha
® 100 m x 3000 cm = 3000m? = 0.3ha
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5600 — (150 + 250) x 150 + 2
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